BIAREZRZE (ER29FE. 407%~697i%)

(ra%l] (HT71]
—o— BT A —o—EEF A
50% 50%
-a-EEh - = LT
—a— AT —h— - IEH]
40% 40% 2N
/'\ ——BAM ——FHOEM]
——FHBH /\ —w— 3]
30% 30% /
—o— R —o- B
—— ™ - KHTH]
20% 20% -+
|\ ——3TAtHT
8T BAET
10% 10%
B (1] —o—XRHT
—a-IREH —=- BTy
0% T T T T T 1 00/0 T T T T T 1
H24 H25 H26 H27 H28 H29 H24 H25 H26 H27 H28 H29

H2BLUEDEZR = (HFEEZZER+IIFERZEN - 2 FERTZ2EN /HERES=100
H27LIRID3Z2 R = SRR EN T RES <100
KT REE = DI A - RS R+ BMKERT S ER

l\

ABNAREEREZER (EM29FE. 40i%~697%)
(5] (7))

—— & —o— ST, EH]
50% ZA 50%
—a-fEET —a— = (]

o BT A,/\ —a FUEE]
40% 40% \ 2 ’}

—e—ZAH % —— HOEH]

——(FHE l./l\ —— gl

30% - 30% Te—
—o— Rttt o —o—HHHE]
<
——EBm - KHTH]

/\-L 2% bony
20% * 20%
— N ‘/\’:,// LA
YEEFH =¥ty
10% x 10%
—e- T —o— KERHE
=R =18
0% T T T T 1 0% T T T T 1

H25 H26 H27 H28 H29 H25 H26  H27 H28 H29



YAl

A AREZZZZER (ER29FE. 40K ~69i%)

(ri51] (HT51]
—o— k& —o— S5, 2]
60% 60% r/*\
—a-[EEm —a— 5L HT
50% —A— AT 50% T3

—— J{OEH]

\//\ =B AT
40% -TA PR EH 40% AN /\ J—
30% 30% +—B—e e

—— BB AT
20% M 20% —a—p —=—3TAtHT
1R I=F=t:i)
10% —a —o— itz 10% kBT
—a-2¥1y -8
0% : : ; ; . 0% : : .
H25 H26  H27 H28  H29 H25 H26  H27  H28  H29

HHAIRZZZE (FER29FE. 40i%~697%)

Qi) (HT51)
90% 90%
—o— (&M —o— S, EH]
80% =7l 80% . - = i)

poo - /\ R el , b

"-\n/——/ = BATH % s OS]
60% e gpEy  00% Ai:z%/ —n— 35 H]
50% A —-RET 500 —o—5HE

—— BT —+—AHTH]
40% - 40% S —¥

/ )N —— ST
30% 30%

N 15 =)

20% AT 00 —o-KRHE]
10% T T T T 1 100/0 T T T T 1

H25 H26 H27 H28 H29 H25 H26 H27 H28 H29



Gl

90%

80%

70%

60%

50%

40%

30%

20%

10%

H25

H26

H27

H28

H29

—»—{FRHEM
—o— R
——EE5™
I\
1EEFH
PRI

90%

80%

70%

60%

50%

40%

30%

20%

10%

GiIpl)

ﬁ\‘/—I\\

\

_-\I—/

7

H25

H26

H27

H28

H29

K (E29FE. 207%~697%)

—o—SEFLEHT
—a— 5|1 BT
—A— FIEHT
——GOEMH]
—n—3iEH]
—o—EMHE
—+—KHTH]

—— T4t



